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5+(-11)

3(-3a—b+2)-2(a—5b)

(-1.5)x0.4

3652y + 9y + (—2x)

2(-3y-2)+3(x+2y—1)

B
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8a?b —ab x3a
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5—(-6)

5(x—2y)+(x+5y—3)
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42ab? + 6ab x 4b

@x+3y-7)-2B8x-y-95)

%+(3+£>(2—ﬁ)

(124? +4ab) +4a

(@+4)? —(x-3)(x-2)

9
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2_5
9 6

(=6) +(=3)

2(~a +4b-3) - (3a +5b - 6)

0.3 x(-0.4)

15ab — 10ab? + 5b

3@x-5y+3)-2(x—4y-7)

-(/3 -2

sk

40ab® = 5b + 2ab

@X=3)x-5+@x+6)x—6)

(/8 +1)(/8 +3>——6

&|

@+2)x—4)—(x-5)°
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1 6x(=7)

3 5@2x-3y)-2(x—-4y-1)

3_1
2 8§72

4 15a°b +9a® x 6ab

3 7a-2b+1)-4(a—2b)

6
5 (8 +3)/8 -2+

4 (_9x2 +6x) + 6x

1

6 (x+5x+4)—(x-6)°

Tg+(1—\/§)2

@+2)° ~(@+3)@-3)
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3(@+3b-2)+2(a-5b)

28x-7)x 17x

(J6 +2)? - li

S|

@+9)x-5—-(x-3)x+1)

1 (-6)x9

2 3@x+y)-5(x-2y)

3 (72a° + 18ab) +9a
6

4 JﬁJrﬁ 4.3

5 (x+2)(x—5)-(@x-2)°
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3+(8)

3(~2a—b+3)-2(a-5b)

(-1.5)x0.4

3652y + 4y + (—3x)

3(x—3y-2)+5(x+2y-3)

2
(3+J7)(3—\/7)—%

12a%b - ab x 5a

@=-Nx+4) +@x-2)°

i

02
(3 2)+ﬁ

H >

x+6)(x—6)—(x+2)(x—4)
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(-6)" %57

7-(4

3(x—3y)+(x+5y—6)

9 ., 3
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54ab? + 6ab x 4b

(@+2y—3)-3@Cx—y—4)

%+(3+£>(2—ﬁ)

(244’ + 8ab) = 8a

@+5)7% —(x-3)(x—4)

6
ﬁ(m+ﬁ)—ﬁ

x+5)x—-5)+x+4)(x+3)
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4 5
9 6

(=6) +(=5)

2(~a +3b-5)— (5a+3b—4)

0.4 % (-0.6)

18ab — 12ab® + 4b

42z -y +3)-3(x-2y-5)

(7 -2y

8

36ab? ~4b +3ab

@x=3N)x-5+@x+7)(x—-7)

18
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24 +(-3)
1,5
678

6% (-8)

53x-y)-3@Cx—4dy-1)

Z

2
15 3

35a°b + 14a® x 6ab

5(a—3b+1)—2(a—5b)

3+ -2
(V12 +2)(J12 3)+\/§

@+2)(x+5)—(x—-3)?

(=622 +8x) + 8x
-7y

@+1)? —(x+3)(x-3)
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3@+b-2)+5(a—3b)

(-3)x6

(@5x—5) %x

7Cx+y)-5(x-2y)

(5 437~

(36a% +12ab) + 4a

@+dHx-4) - (x-2)(x+3)

W+%—6ﬁ

@+2)(x-5)—(x—4)°*




